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Geometry
Review 1.1-1.5

#1.
a Name in all possible ways, the line containing A, R, and D

b Name the sides of ZABC.

¢ What side do 22 and Z4 have in common?

d Name the horizontal ray with endpoint C.

¢ Estimate the measures of ZBAD, /2, and ZABC .

f Are angleé FCD and DCE different angles?
g Which angle in the figure is LB ? s
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b Change 132°20' to degrees.
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# Acvording to the diagram, which two
segiments are congruent?

b According to the disgram, which two
angles are congruent?
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#5.
The measures of £1, £2, and £3 are in oA
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#8 Pind the angle formed by the hands of a clock at each Hme.
©oa LnD b 1120

#9.

Glven: WY = 25 g W e
The ratio of WX (o XY {5 32,
Find; WX

RO &




